
(ENGLISH) 

1.  Which of the following statements is true about the Restoration period in England?  

(A) Released from restraint, society abandoned the decencies of life and the reverence  

   for law and plunged into excesses more unnatural than had been the restraints of  

   Puritanism  

(B) King Charles II imposed strict code of conduct on English Society  

(C) King Charles II was a role model of social morality and human behavior  

(D) It was a prosperous period of classical art and literature 

 

2.  Spenser's celebration of his own marriage is the subject of  

 (A) Four Hymns     (B) Epithalamion  

(C) Prothalamion     (D) The Shepherd’s Calendar  

 

3.  When were the Theatres closed in England?  

(A) 1623   (B) 1642   (C) 1616   (D) 1650 

 

4.  Who completed Marlowe's Hero and Leander?  

(A) Shakespeare  (B) Chapman (C) Ben Jonson  (D) Heywood 

 

5.  John Donne was imprisoned for his 

(A) Obscene writing    (B) Rebellious writing  

(C) Clandestine marriage    (D) Financial corruption 

 

6.  What kind of a poem is Milton's Lycidas?  

(A) Elegy  (B) Epic   (C) Ode   (D) Lyric  

 

7. 'Life is a tale told by an idiot...’ From which play are these words quoted?  

(A) Hamlet     (B) The Tempest  

(C) Macbeth    (D) Romeo and Juliet  

 

8.  The Peasant Rebellion took place in  

(A) 1380  (B) 1381   (C) 1382   (D) 1383  

 

9.  Who is Lowes talking about in the following line? "He found English a dialect and left it 

a language."  

(A) Shakespeare (B) Spenser  (C) Milton  (D) Chaucer  

 

10.   "There is providence in the fall of a sparrow" occurs in  

(A) War and Peace    (B) A Farewell to Arms 

(C) Hamlet     (D) King Lear 

11.  Out of Shakespeare's 37 plays, ... plays were published in quarto form. :  

(A) 12   (B) 15   (C) 20   (D) 16  

12.  Michel Foucault is the author of  

(A) Introduction to Poetics   (B) Writing and Difference  

(C) Mythologies     (D) The History of Sexuality  



13.  Among the following, who is associated with the Tel Quel group of editors? 

(A) Gayatri Spivak   (B) Berry Friedan 

(C) Julia Kristeva    (D) Elaine Showalter 

 

14.  ‘White Mythologies’ has been written by  

(A) Aijaz Ahmad     (B) Frantz Fanon 

(C) Robert J. C. Young    (D) Amy Cesaire 

 

15.  Three dots (. . .) in an academic paper are called:  

(A) Ellipsis  (B) Full stops  (C) Full points  (D) Period  

 

16.   Sylvia Plath is known as a Confessional poet. Who else among the following belongs to 

the same category?  

(A) Robert Browning    (B) Robert Lowell  

(C) John Chapman    (D) Kamla Das  

 

17.   A. K. Ramanujan's 'Three Hundred Ramayanas' begins with the story of  

(A) Indra's seduction of Ahalya    

(B) Rama's ring falling off into the netherworld  

(C) Rama's conversation with Viswamitra  

(D) The disappearance of Lakshmana  

 

18.  Dithyramb is an emotional choral hymn in honor of  

(A) Apollo  (B) Saturn   (C) Dionysius  (D) Venus 

 

19.  What is an eclogue?  

(A) A poem expressing lament or sorrow  

(B) A short pastoral poem in which shepherds converse with one another  

(C) A short lyric describing an incident of deep sorrow like death  

(D) A love poem written at dawn 

 

20.   This novel by Kiran Desai deals with "poverty and patterns that repeat across 

generations”. Which is the novel?  

(A) Hullaballo in the Gonava Orchard  (B) The Lovers  

(C) Ancient Promises    (D) The Inheritance of Loss  

 

21.  Who among the following was not a critic?  

(A) M. Arnold  (B) Ruskin  (C) Dryden  (D) Tennyson  

 

22.  Aristotle's ‘Poetics’ contains— 

(A) 26 chapters  (B) 28 chapters  (C) 25 chapters  (D) 24 chapters 

 

23.  Which of the following critical approaches is inclined towards Marxism?  

(A) Cultural Materialism    (B) New Historicism  

(C) Post-Structuralism    (D) Postcolonialism   



 

24.   In Euripides’s Medea the chorus consists of 

(A) Fifteen Athenian elders  (B) Fifteen Spartan women 

(C) Fifteen Corinthian women   (D) Fifteen Sicilian elders 

 

25.  An extremely simplified form of a language used as a contact language among speakers 

of different languages is a 

(A) Dialect  (B) Creole  (C) Pidgin   (D) Register 

 

26.  To refer to the unresolvable difficulties a text may open up, Derrida makes use of the 

term: 

(A) Difference (B) Aporia  (C) Erasure (D) Supplement 

 

27.  Which of the following is a dramatic monologue ? 

(A) In Memoriam    (B) “The Charge of the Light Brigade” 

(C) “Crossing the Bar”   (D) “Tithonus” 

 

28.  Heteroglossia” refers to the 

(A) Multiple readings of a text.   

(B) Juxtaposition of multiple voices in a text. 

(C) Comments on the margins of a text. 

(D) Gloss or commentary relating to a text. 

 

29.  Which of the following novels reconstructs the historical events of the Indian Mutiny? 

(A) The Jewel in the Crown  (B) The Siege of Krishnapur 

(C) The Day of the Scorpion  (D) The Towers of Silence 

 

30.  In Practical Criticism I.A. Richards links four kinds of meanings in most human 

utterances to four aspects. These are 

(A) Sense, Feeling, Tone, Intention (B) Sound, Feeling, Nuance, Intention 

(C) Sense, Voice, Emotion, Intention (D) Sense, Image, Tone, Intention 

 

31.  “There is nothing outside the text,” is a statement by 

(A) Victor Shklovsky   (B) Jacques Derrida 

(C) Roland Barthes   (D) Ferdinand de Saussure 

 

32.  The preliminary version of James Joyce’s ‘Portrait of the Artist as a Young Man’ was 

called 

(A) Stephen Hero    (B) Bloom’s Blunder 

(C) A Day in the life of Stephen Dedalus (D) The Dead 

 

33.  Whom did Keats regard as the prime example of ‘negative capability’? 

(A) John Milton    (B) William Wordsworth 

(C) William Shakespeare   (D) P.B. Shelley 

 



 

34.  The year 1939 proved to be a crucial year for two important writers in England. Identify 

the correct combination below: 

(A) For Eliot who won the Nobel Prize and Orwell who published his Animal Farm 

(B) For Eliot who started publishing verse–drama, for Hardy  whose Wessex Poems 

were published. 

(C) For Evelyn Waugh and Graham Greene, each for publishing his first novels. 

(D) For Yeats who died, for Auden who left England for the U. S.  

 

35.  In which of his essays does Homi Bhabha discuss the ‘discovery’ of English in colonial 

India? 

(A) Signs taken for Wonders  (B) Mimicry 

(C) Nation and Narration   (D) The Commitment to Theory 

 

36.  Who, among the following is credited with the making of the first authoritative 

Dictionary of the English Language? 

(A) Bishop Berkeley   (B) Samuel Johnson 

(C) Edmund Burke   (D) Horace Walpole 

 

37.  The expression, “dreaming house” is an example of 

(A) Zeugma    (B) Transferred epithet 

(C) Chiasmus    (D) Apostrophe 

 

38.  “It was said of Socrates, that he brought Philosophy down from Heaven, to inhabit 

among Men; and I shall be ambitious to have it said of me, that I have brought 

Philosophy out of Closets and Libraries, Schools and Colleges, to dwell in Clubs and 

Assemblies, at Tea-Tables and in Coffee-Houses.” Who is the author of these words? 

(A) Alexander Swift   (B) Alexander Steele 

(C) Joseph Addison   (D) Alexander Pope 

 

39.  W. B. Yeats used the phrase ‘the artifice of eternity’ in his poem—— 

(A) Byzantium    (B) Leda and the Swan 

(C) The Second Coming   (D) Sailing to Byzantium 

 

40.  The autobiography of this author is Smile Please: An Unfinished Autobiography. 

(A) Doris Lessing    (B) Jean Rhys 

(C) Sylvia Plath    (D) Virginia Woolf 

 

41.  Which writer is accredited with developing the theatrical techniques of Brecht’s Epic 

theatre around the theme of gender and sexuality? 

(A) Caryl Churchill   (B) Margaret Atwood 

(C) Alice Walker    (D) Adrienne Rich 

 

42.  Which of the following poems by Derek Walcott is called an ‘epic poem’? 

(A) A Far Cry from Africa  (B) Omeros 

(C) Coral     (D) After the Storm 



 

43.  Which writer is considered to be the father of Bengali sonnet? 

(A) Aurobindo Ghosh   (B) Rabindranath Tagore 

(C) Henry Derozio    (D) Michael Madhusudan Dutt  

 

44.  In which of the novels of Dickens, the protagonist remembers how he had been "a child's 

Tom Jones, a harmless creature" in his boyhood? 

(A) Great Expectations   (B) Hard Times 

(C) Pickwick Papers   (D) David Copperfield 

 

45.  Ngugi rejected English language and chose to write in Gikuyu because  

(A) He was against English  

(B) Language is an important means of communication 

(C) He questions linguistic dependency, a type of slavery 

(D) Understanding of his own language  

 

46.  The remote Mayo coastline, on which the play is set, serves to confine an isolated rural 

community, one which is disturbed by the arrival of a fugitive, a supposed parricide. 

Which is this play by J.M. Synge? 

(A) Riders to the Sea   (B) The Tinker's Wedding  

(C) The Well of the Saints  (D) The Playboy of the Western World  

 

47.   Which play of Shakespeare is a dramatization of a story told by Chaucer in "The Knight's 

Tale"? 

(A) The Merchant of Venice  (B) As You Like It  

(C) The Two Noble Kinsmen   (D) The Tempest  

 

48.   "Mac Flecknoe" is a personal satire. It is dedicated against a fellow poet of his time 

(A) Thomas Shadwell   (B) Alexander Pope  

(C) Shaftesbury     (D) Dr. Johnson  

 

49.  Chaucer's first attempt in English to use the heroic couplet occurs in— 

(A) The Parson's Tale    (B) The Legend of Good Women  

(C) The Parliament of Fowls  (D) The House of Fame  

 

50.  Wordsworth's Preface to the Lyrical Ballads was 

(A) A separate supplement to the Lyrical Ballads  

(B) A rejoinder to Coleridge's Biographia Literaria  

(C) The preface to the first edition of the Lyrical Ballads  

(D) The preface to the second edition of the Lyrical Ballads  

 

x-x-x 

 

 

 

 



 

 

 (FRENCH) 

1.  La Marseillaise  est écrite par : 

(A)  André de Chénier   (B)  Rouget de Lisle   

(C)  Fabre d’Eglantine   (D)  Madame de Sévigné  

2.  Le Prix  Goncourt   est  attribué chaque année à  la meilleure œuvre : 

(A)  Littéraire    (B)  Musicale  

(C)  Architecturale    (D)  Cinématographique 

3.  Montagnards  étaient  des: 

(A)  terroristes    (B)  révolutionnaires 

(C)  aventuriers    (D)  poètes 

4.  C’était … qui a rendu l’instruction primaire en France gratuite, laïque et obligatoire : 

(A)   Giscard d’Estaing   (B)  Jacques Chirac 

(C)  Jules ferry    (D)  Georges Clemenceau   

5.  …. a écrit une lettre ouverte intitulée « J’accuse » au Président de la République 

française: 

(A)  Voltaire (B)  Maupassant (C)  Diderot (D)  Zola  

6.  Le premier Président socialiste de la République française : 

(A)  François Mitterrand   (B)  Lionel Jospin 

(C)  Laurent Fabius   (D)  Pierre Mauroy 

7.  La France ne partage pas sa frontière  avec: 

(A)  La suisse (B)  L’Espagne (C)   La Belgique (D)  L’Autrich 

8.  Entre le Dadaïsme et l’Existentialisme  vient: 

(A)  Le  Symbolisme   (B)  Le Réalisme 

(C)  Le  Naturalisme   (D)  Le  Surréalisme   

9.  Les  romanistes  étaient  contre : 

(A)   la clarté    (B)  le culte du  moi 

(C)   l’unité      (D)  la discipline   

10.  Chassez l’intrus : 

(A)  Mahé     (B)  Goa   

(C)  Chander Nagor    (D)  Yanam  

11.  Louis Farigoule est le vrai nom de : 

(A)  Voltaire    (B)  Molière  



(C)  Marcel Pagnol    (D)  Jules Romains   

12.  “get lost  “ se  traduit comme: 

(A)  Casse-toi !    (B)  Perds-toi !  

(C)  Allez!     (D)  Sois perdu !   

 

13.  Le système phonétique français comporte: 

(A)  36 sons (B)  33 sons (C)  26 sons (D)  32 sons 

14.  Complétez le proverbe “ un chat échaudé craint …”: 

(A)  L’eau froide (B)  Le rat  (C)  Le feu  (D)  L’été 

15.  Chassez l’intrus : 

(A)  Alter ego    (B)  Mauger bleu  

(C)  Mauger rouge     (D)  Moulin rouge  

16.  Chassez l’intrus : 

(A)   François Truffaut    (B)  J.L. Godard 

(C)   Luc  Besson    (D)  Boris Vian  

17.  Chassez l’intrus : 

(A)  Phonologie (B)  Phonétique (C)   Morphologie (D)  Calque  

18.  Chassez l’intrus (repérez le musicien français): 

(A)  Wagner (B)  Offenbach (C)  Berlioz  (D)  Mozart  

19.  Manet est un peintre: 

(A)  impressionniste   (B)  réaliste 

(C)  surréaliste    (D)  fauviste  

20. La ville de  Grenoble se trouve au bord de : 

(A)  La Loire (B)  La Garonne (C)  La Seine (D)  Le Rhône 

21.  Mauger rouge est une méthode basée sur l’approche : 

(A)  Traditionnelle    (B)  SGAV 

(C)  Communicative   (D)  Behavioriste  

22.  « Manger un morceau sur le pouce »  veut dire : 

(A)  ne pas manger du tout   (B)  ne rien laisser sur le plat 

(C)  manger debout et sans assiette (D)  manger assis et sans assiette  

23.  Le roi associé  à la Révolution française: 



(A)  François Ier (B)  Louis XIV (C)  Louis XVI (D)  Louis XIII 

24.  Laquelle des suivantes  n’est  pas une méthode communicative ? 

(A)  NSF  (B)  Connexion (C)  Avec Plaisir (D)  Dondon 

25.  Nommez le psychologue qui a appliqué les principes behavioristes aux exercices 

structuraux : 

(A)  Saussure (B)  Skinner (C)  Klein  (D)  Adler  

26.  La sémantique  étudie : 

(A)  les sens des mots   (B)  les sons des mots 

(C)  les  figures  de style   (D)  la dérivation d’une langue  

27.  La phonologie  étudie : 

(A)  les rapports entre la langue et la société 

(B)  les flexions et la forme des mots 

(C)  les systèmes de signe dans une culture 

(D)  le système de sons dans une langue  

28.  Un exemple d’une consonne  nasale du français est : 

(A) /f/  (B) /m/  (C)  /q/  (D) /v/  

29.  Saussure a fait une distinction nette entre : 

(A)  La compétence et la langue  (B)  Le  langage et la parole 

(C)  La performance et la parole  (D)  La langue et la parole  

30.  Apollinaire fonda un journal dénommé : 

(A)  Le Nouvel Esprit   (B)  Salut jeunesse 

(C)  Le Vengeur    (D)  Bonjour Modernité  

31.  Le pont Mirabeau est un poème: 

(A)  de tragédie    (B)  d’amour et de nostalgie 

(C)  de comédie    (D)  de tragi-comédie 

32.  Le Président actuel de la France appartient au parti politique : 

(A)  UDF  (B)  PCF  (C)  REM  (D)  RPR  

33.  Quatre mots qui décrivent l’idéologie surréaliste sont : 

(A)  forme, beauté, bienséances, subtilité  

(B)  spontanéité, rêve, instinct, révolte 

(C)  imagination, émotion, liberté, humeur 

(D)  foi, passion, héritage, bienveillance 



34.   La ville de Toulouse est aussi connue comme :  

(A)  La ville rose    (B)  La ville de lumières 

(C)  La ville de jardins   (D)  La ville de rivières   

35.  Lequel n’est pas  un  plat   français ? 

(A)  Cassoulet (B)  Crêpes  (C)  Couscous (D)  Foie gras 

36.  La première femme Première Ministre  français  est : 

(A)  Marguerite Duras   (B)  Edith Cresson 

(C)  Marguerite Durand   (D)  Françoise Giroud  

37.  Chassez l’intrus (qui n’est pas un nouveau romancier): 

(A)  Nathalie Sarraute   (B)  Claude Simon 

(C)  Michel Butor    (D)   Samuel Beckett  

38.  le classicisme suivait un style: 

(A)  retenu  (B)  prolixe  (C)  baroque (D)  fleuri  

39. Molière est surtout un grand spécialiste : 

(A)  de l’amour romantique  (B)  de la  ferveur  religieuse 

(C)  des obsédés    (D)  du héroïsme 

40.  Que signifie l’expression : « avoir la  puce  à l’oreille » ? 

(A)  se douter de quelque chose  (B)  avoir les puces dans les cheveux 

(C)   avoir  mal à la tète   (D)   être  pauvre  

41.  Quel Edit a mis fin aux guerres de religions en France? 

(A)  Versailles (B)  Nantes  (C)  La Rochelle (D)  Paris 

42.  Laquelle n’est pas une technique de traduction? 

(A)   La modulation    (B)  Le calque 

(C)  L’étouffement    (D)  La transposition  

43.  Un sonnet a combien de strophes? 

(A)  6  (B) 4  (C)   14  (D)  12  

44.    La bonne traduction de « cela fait mon compte «  serait: 

(A)  That suits me    (B)  That makes my account 

(C) That makes me count   (D) That makes for account  

45. Si on traduit la phrase » get some chairs » en français comme « va chercher des chaises », 

c’est une traduction: 



(A)  module  qui a changé le point de vue du texte 

(B)  calquée fidèlement sur le texte de départ 

(C)  où il y eu de l’étoffement 

(D)  où on a gardé des éléments de la langue source tels quels 

46.  Traduire “dont forget  the bread»  comme  « pense au pain  »  est un cas de: 

(A)  La  Modulation   (B)  L’Equivalence 

(C)  Le Calque    (D)  L’Adaptation  

47.  Laquelle  n’est pas une pièce de théâtre de Beaumarchais? 

(A)    La  Double inconstance  (B)  Le Barbier de Séville 

(C)  Le Mariage de Figaro   (D)  Le Jeu de l’amour et du hasard 

48.  Dom Juan est avant tout: 

(A)  un imposteur (B)  un avare (C)  un hypocrite (D)     un trompeur 
 

49.  Repérez la caractéristique romantique sine qua non: 

(A)  la liberté dans l’art   (B)  la concision de l’expression 

(C)  la clarté dans l’expression  (D)  l’unité d’expression 

50. Une activité d’apprentissage qui est guidée  par des règles de jeu et pratiquée  pour le 

plaisir s’appelle: 

(A)  Une activité de motivation  (B)  Une activité ludique 

(C)  Une activité agréable   (D)  Une  activité de stimulation  

x-x-x 

 

 

 

 

 

 

 

 

 

 



 

(HINDI) 

1. ^dUukSth* cksyh fgUnh dh fdl miHkk"kk ds vUrxZr ifjx.; gS\ 

(A)  fcgkjh     (B)  igkM+h  (C)   iwohZ fganh     (D)  if'peh fganh 

2. fganh ds fdl jpukdkj dks o"kZ 2018 ds lkfgR; vdkneh iqjLdkj ls lEekfur fd;k x;k gS\ 
(A)   ukfljk 'kekZ   (B)   fp=k eqn~xy (C)   eS=s;h iq"ik    (D)   vpZuk oekZ 

3. ^nsfly c;uk lc tu feV~Bk* & bl iafDr dk laca/k fdl dfo ls gS & 
(A)   t;nso        (B)  vehj [kqljks (C)   fo|kifr   (D)  fl) ljgik 

4. fdl 'kCn dh orZuh lgh ugha gS\ 

(A)   J`ax    (B)  Jherh  (C)   uhjksx     (D)   HkkxhjFkh 

5. ^;K* 'kCn dk o.kZ&foPNsn gS & 
(A)   ;~$x~$åk~$v                   (B)   ;~$v$t~$åk~$v                                    
(C)   ;~$v$t~$v$åk~$v             (D)  ;~$v$x~$åk~$v                                    

6. ^eSaus mldh e/kqj vkokt+ dks lquk*---------bl okD; esa fØ;k dk dkSulk ^iz;ksx* gqvk gS& 
(A)   drZfj iz;ksx                    (B)  Hkkos iz;ksx      
(C)   deZf.k iz;ksx                   (D)  buesa ls dksbZ Hkh ugha                    

7. fuEufyf[kr Lojksa esa ls dkSulk Loj ^vxz Loj* ekuk x;k gS & 

(A)   b    (B)   m  (C)   v      (D)   vks  

8. ^vkf[+kjdkj og thr x;k*---------------------bl okD; esa ^vkf[+kjdkj* 'kCn D;k gS & 
(A)   laKk                          (B)  lkoZukfed fo'ks"k.k  
(C)   fØ;kfo'ks"k.k                    (D)  leqPp;cks/d 

9. ^vFkZ* dh n`f"V ls bl okD; dk Hksn crkb, & ^;fn og i<+rk rks lQy gks tkrkA* 
(A)   lansgkFkZ       (B)  ladsrkFkZ  (C)   vkKkFkZ    (D)   laHkkoukFkZ 

10. fuEufyf[kr 'kCnksa esa ls dkSulk 'kCn ^v/kZrRle* gS & 

(A)   pank       (B)  pUæ  (C)   pUnj     (D)  pk¡n 

11. ^vkXus; Hkk"kk ifjokj* dk vU; uke D;k gS\ 
(A)  vkLVªks&,f'k;kfVd ifjokj         (B)   cq'keSu ifjokj  
(C)   ckaVw ifjokj                       (D)  lwMku ifjokj 

 



12. ;kLd ds fu#Dr esa fdldh O;k[;k gS & 
(A)  ^izkfr'kk[;*  dh                  (B)  ^vkj.;d xzaFkksa* dh 
(C)   ^fu?k.Vq* dh                   (D)   ^egkHkk";* dh 

13. èofu ds mPpkj.k dh n`f"V ls fuEufyf[kr esa ls dkSulk ^py vo;o* gS & 

(A)   Åij ds nk¡r    (B)  Lojra=h  (C)   rkyq       (D)  eLrd 

14. fuEufyf[kr esa ls fdl Hkk"kk esa okD;&jpuk djrs le; in&Øe izk;% fuf'pr ugha jgrk& 
(A)   fgUnh     (B)   phuh  (C)   laLÑr    (D)   vaxzst+h 

15. ;ksxkRed Hkk"kkvksa esa ^'kCn* dks ^in* cukrs le; D;k fd;k tkrk gS & 
(A)   mlesa ls vFkZ&rÙo dks fudky fn;k tkrk gSA                   
(B)   mlesa vFkZ&rÙo dks tksM+ fn;k tkrk gSA                   

(C)   mlesa ls laca/k&rÙo dks fudky fn;k tkrk gSA                               
(D)   mlesa laca/k&rÙo dks tksM+ fn;k tkrk gSA                   

16. feJca/kqvksa ds uke gSa & 
(A)   jklfcgkjh feJ] Ñ".kfcgkjh feJ] x.ks'kfcgkjh feJ                   
(B)   'kqdnsofcgkjh feJ] Ñ".kfcgkjh feJ] x.ks'kfcgkjh feJ 
(C)   'kqdnsofcgkjh feJ] Ñ".kfcgkjh feJ] jklfcgkjh feJ               
(D)   x.ks'kfcgkjh feJ] ';kefcgkjh feJ] 'kqdnsofcgkjh feJ  

17. fdldk dFku gS & ^^lkjs jpukdky dks dsoy vkfn] eè;] iwoZ] mÙkj bR;kfn [k.Mksa esa vk¡[k ew¡n 
dj ck¡V nsuk & ;g Hkh u ns[kuk fd [k.M ds Hkhrj D;k vkrk gS] D;k ugha] fdlh o`Ùklaxzg dks 

bfrgkl ugha cuk ldrkA** 
(A)    lj tkWtZ fxz;lZu                  (B)  vkpk;Z jkepUæz 'kqDy 
(C)    feJca/kq                (D)  MkW- uxsUnz 

18. fuEufyf[kr esa ls fdl bfrgkl&xzaFk esa ^vk/qfud dky* dks LFkku ugha fn;k x;k gS & 
(A)   fgUnh lkfgR; dk bfrgkl (vkpk;Z jkepUæ 'kqDy)                   
(B)   fgUnh&lkfgR; dk vkykspukRed bfrgkl (MkW- jkedqekj oekZ) 
(C)   fgUnh lkfgR; dk oSKkfud bfrgkl  (MkW- x.kifrpUæ xqIr)              
(D)   feJca/kq fouksn (feJca/kq) 

19. Ýsap fo}ku rsu (Taine) ds vuqlkj lkfgR; dh fofHkUu izo`fÙk;ksa ds ewy esa dkSu&lk rÙo lfØ; 

ugha jgrk\ 
(A)   tkfr                     (B)   okrkoj.k 
(C)   {k.k&fo'ks"k               (D)   jpukdkj dh dkO;&izfrHkk 



20. vkfndkyhu tSu&lkfgR; dk lokZf/kd yksdfiz; :Ik dkSulk Fkk\ 
(A)  jkl     (B)  jklks   (C)  pfjm    (D)  jkld 

21. fdl fodYi esa jpuk vkSj jpukdkj dk lqesy ugha gS & 

(A)   HkDreky ¾ ukHkknkl                            
(B)   dkfynkl gt+kjk ¾ dkfynkl f=osnh 
(C)   pkSjklh oS".kou dh okrkZ ¾ xksLokeh foV~ByukFk      
(D)   ewy xkslkbZa pfjr ¾ csuh ek/ko nkl 

22. ^izLFkku=;h* ls D;k rkRi;Z gS\ 
(A)   jkek;.k] egkHkkjr] czkã.k xzUFk 
(B)   osn] mifu"kn] czkã.k xzUFk 
(C)   mifu"kn] xhrk] czãlw= 
(D)   osn] iqjk.k] egkHkkjr 

23. dkSu&lk dfo jkeHkDr dfo ugha gS\ 

 (A)  ukHkknkl    (B)  vxznkl   (C)  izk.kpUn pkSgku (D)  gfjnkl 

24. fdldh dkO;&iafDr gS &^vc dSls NwVs jke] uke jV ykxhA* 
(A)   dchj    (B)    jSnkl  (C)   xq# ukud    (D)   rqylhnkl 

25. fdldk dFku gS & ^xksj[k txk;ks tksx] Hkxfr Hkxk;ks yksx*A 
(A)   xksj[kukFk      (B)   dchj  (C)   rqylhnkl    (D)  fl) ljgik 

26. bZlqjh dh Qkxksa dk laca/k fdl cksyh ls gS & 

(A)   dUukSth   (B)   cqansyh  (C)  c?ksyh      (D)    esokrh 

27. fuEufyf[kr esa ls dkSu&lk dfo ^vdcjh njckj dk dfo* gS\ 
(A)  xax       (B)  teky   (C)  okftn  (D)  d`ikjke 

28. fdldk dFku gS & ^u rkS jkf/kdk dUgkbZ lqfeju dkS cgkukS gSA*\ 
(A)  efrjke     (B)  fcgkjh   (C)  jlyhu     (D)  fHk[kkjhnkl 

29. mÙkjizns'k ds ^lwdj {ks=* ls fdu dfo;ksa dk laca/k jgk gS & 

(A)   Lokeh jkekuUn vkSj uUnnkl          (B)   Lokeh jkekuUn vkSj rqylhnkl 
(C)   rqylhnkl vkSj uUnnkl             (D)   rqylhnkl vkSj ds'konkl 

30. fdldh dkO;&iafDr gS &^rqe dkSu&lh ikVh i<+s gks yyk] eu ysgq iS nsgq NVkad ughaA* 
(A)   efrjke    (B)  ?kukuan  (C)   cks/kk       (D)  fcgkjh 



31. dkSulh fo/kk jhfrdkyhu jktLFkkuh x| dh ,d fo/kk ugha gS& 
(A)   okr       (B)   opfudk  (C)   [;kr     (D)   iapukek 

32. dkSulk fodYi lqesfyr ugha gS & 

(A)   jktk jkeeksgu jk; ¾ czkãlekt      (B)   yksdekU; fryd ¾ x.ks'k iwtk 
(C)   ,suh cslsaV ¾ /keZlHkk               (D)   egknso xksfoan jkukMs ¾ izkFkZuk lekt 

33. HkkjrsUnq gfj'pUnz ds fo"k; esa ;g dFku fdldk gS & ^Hkkjr esa Hkk"kk ds ys[kd nks gSa & ,d 
dk'kh esa( nwljk iatkc esaA* 
(A)   egkohjizlkn f}osnh            (B)  J)kjke QqYykSjh 
(C)   jkefoykl 'kekZ                    (D)  ckyeqdqUn xqIr 

34. dkSulk fodYi lqesfyr ugha gS & 

(A)   HkkjrsUnq gfj'pUnz ¾ fotf;uh fot; oSt;Urh                   
(B)    jk/kÑ".knkl ¾ Hkkjr ckjgeklk 
(C)    vfEcdknÙk O;kl ¾ gkfnZd g"kkZn'kZ                  
(D)    izrkiukjk;.k feJ ¾ eu dh ygj 

35. dkSulk fodYi lqesfyr gS & 
(A)   jkgh eklwe jt+k ¾ xkscj x.ks'k      (B)   uhjtk ek/ko ¾ ;enhi 
(C)   jes'k 'kkg ¾ Vksih 'kqDyk           (D)  eerk dkfy;k ¾ VSjhdksVk 

36. fuEufyf[kr esa ls dkSulh jpuk eSfFkyh'kj.k xqIr }kjk jfpr ugha gS & 
(A)   ifFkd    (B)  ;'kks/kjk  (C)    }kij       (D)   >adkj 

37. fuEufyf[kr esa ls dkSulk dfo feJca/kqvksa ds ^fgUnh uojRu* esa ifjx.; ugha gS & 

(A)   lwjnkl      (B)   Hkw"k.k  (C)    nso        (D)   ?kukuUn 

38. dkSulk fodYi lqesfyr ugha gS & 
(A)   ckyÑ".k 'kekZ ^uohu*¾ ge fo"kik;h tue ds                   
(B)    t;'kadj izlkn ¾ moZ'kh 
(C)    lw;ZdkUr f=kikBh ^fujkyk* ¾ xzfUFk              
(D)    ek[kuyky prqosZnh ¾fgefdjhVuh 

39. dkSulk fodYi lqesfyr ugha gS & 

(A)    cw¡n ckoM+h  ¾ vkRedFkk            (B)   lPph ohjrk ¾ fuca/k 
(C)    rhljh rkyh ¾  ukVd              (D)   dkyk ty ¾ miU;kl 

40. dkSulk fodYi lqesfyr  gS & 



(A)   tSusUnz ¾ eqfDrcks/k                  (B)   fp=k eqn~xy ¾ rhu njos'k 
(C)   eS=s;h iq"ik ¾ ihyh vk¡/h             (D)   dk'khukFk flag ¾ jsr 

 

41. tuojh] Qjojh vkSj ekpZ 2019 esa fganh&lkfgR; ds rhu izeq[k jpukdkj fnoaxr gks x,A Øe'k% 

muds uke gSa & 
(A)   ukeoj flag] Ñ".kk lkscrh] jef.kdk xqIrk                                   
(B)   jef.kdk xqIrk] Ñ".kk lkscrh] ukeoj flag  
(C)   Ñ".kk lkscrh] ukeoj flag] jef.kdk xqIrk                                  
(D)   Ñ".kk lkscrh] jef.kdk xqIrk] ukeoj flag 

42. igyk Hkkjrh; KkuihB iqjLdkj fdl o"kZ esa fn;k x;k & 
(A)   1970 bZ-     (B)  1965 bZ- (C)    1955 bZ-    (D)  1952 bZ- 

43. ^e`PNdfVde~* 'kCn dk laf/k&foPNsn gS & 

(A)   e`PN $dfVde~                   (B)  e`r~ $dfVde~ 
(C)   e`r~ $ 'kdfVde~               (D)    e`r% $dfVde~ 

44. fuEufyf[kr esa ls fdls jl&fl¼kUr ds vUrxZr ^lkfRod vuqHkko* ekuk x;k gS& 
(A)   oSo.;Z    (B)  Hkzwfo{ksi  (C)    dVk{k     (D)  xk;u 

45. Hkjreqfu us vyadkjksa dh la[;k fdruh ekuh Fkh & 
(A)   lksyg     (B)   vkB  (C)   rhl    (D)   pkj 

46. ^i;kZ; oØrk* oØksfDr ds fdl Hksn ds vUrxZr ifjx.; gS & 

(A)    okD; oØrk                  (B)    in ijk/Zk oØrk 
(C)    in iwokZ/Zk oØrk               (D)   izdj.k oØrk 

47. fjDr LFkku dks iwjk dhft, & ^fpÙk dk foLrkj&Lo:Ik nhIrRo ---------------------------- dgkrk gSA*  
(A)   izlkn     (B)   vkst  (C)   ek/q;Z       (D)   lekf/k 

48. ^dkO;izdk'k* ds jpukdkj gSa & 
(A)    eEeV      (B)  fo'oukFk (C)    n.Mh    (D)   mn~HkV 

49. fuEufyf[kr esa ls fdl jpuk ds jpukdkj vkbZ- ,- fjpMZ~l gSa & 
(A)   The Poetics                           (B)  Aesthetics 

(C)   Principles of Literary Criticism    (D)  On the Sublime 

50. ^fojspu* ds uhfrijd vFkZ dh O;k[;k fuEufyf[kr esa ls fdl fo}ku us dh & 
(A)   ckjust      (B)    izks- cwpj (C)   izks- ejs      (D)    Øksps 



(PUNJABI) 

1H 1H 1H 1H  fgo xfo BjhA nkt? XB feT[A ;[y gkt? fpofj fpo'X sB Shi?. 

 e'feb nzp ;[jkth p'b? feT[ d[y nze ;jhi?.  

 T[go'es pkDh dhnK ;soK jB L  

(A) ig[ih ;kfjp  (B)  ;[ywBh ;kfjp  
(C) nk;k dh tko  (D)  s[ykoh pkoj wkjk  

2H 2H 2H 2H  šiBw iBw eh wb[ X't? gokJh nkgDk ehsk gkt?.   

 Jhjk ;[y[ BjhA dorkj Y'Jh iwg[fo ikfJ gukt?..  

 fBzdfe nfjbk iBw[ rtkfJn?..  

 T[go'es pkDh dhnK ;soK jB L  

(A) ;qh r[o{ BkBe d/t ih  (B) ;qh r[o{ nowdk; ih  
(C) ;qh r[o{ noiB d/t ih  (D) r[o{ r'fpzd f;zx ih  

3H 3H 3H 3H  w/ok BkBe fJeZbk ofj frnk j?. 

 pj[s fdB phs rJ/  

;zrs ”u wodkBk BjhA nkfJnk  

 wodkBk r[o{ dk :ko ;h@ 

 fJj ekft ;soK jB L  

(A) gq'H w'jB f;zx (B) ;H ;H whÙk  
(C) jfoGiB f;zx  (D) i;tzs f;zx B/eh   

4H 4H 4H 4H  šw/oh eftsk w/o/ jo  

w";w dh ftZfEnk j?  

pj[s w/ok, E'VkFE'Vk  

;fwnK dk fJfsjk; th j?@ 

 fJj ekftFeEB j? L   

(A) fÙt e[wko pNkbth  (B)  ;[oihs gkso  
(C) vkH irsko    (D)  nfwqsk gqhsw   

5H 5H 5H 5H  šfeos B/ ıkjÙK fJZSktK wko e/  

gZEoK ftZu o{j dh eftsk fbyh j?  

w?A fJ; ekft bJh fJe T[wo sVfgnk jK  

fes/ e'Jh gzrsh fby ;eK  

i' w{osh dh ndk fijh j't/.@   

 fJj ekftFeEB fe; g[;se ftZu'A j? L  

(A) ;{oi wzdo dhnK g"VhnK  (B)  b{Dk  
(C) e'D/ dk ;{oi  (D)  ewzvb  



 

6H 6H 6H 6H  šgqEw/ BkBe uzd, irs G:' nBzd[,  

skofB wB[y iB, ehnT[ gqrk;@  

 fJj pkDh j? L   
(A) GZN wEok     (B) GkJh r[odk;   (C) GZN r:zd     (D)  GZN Bb   

7H 7H 7H 7H  šfJj “okm” jh tZfink eod/ ;B, tZv/ dotk˜/ tkb/,  

fJjBK d/ y/s ˘ y/s e'Jh BjhA ;h efjzdk  

johJ/ ek pkˆ jh fejk eod/ ;B\ @   

 fJjBK ;soK ;zpzXh j/m fbfynK T[ZsoK ftZu'A fejVk ;jh BjhA j? L  

(A) “nkgDh fwZNh” ftZu'A  (B)  i'rk f;zx dhnK ;soK   

(C) “Bzsk ewbk” eftsk ftZu'A  (D)  “dhgFokm” ftZu'A    

8H8H8H8H  š;kv/ ;fwnK ftZu@ ftZu gkÙ nkgD/ tZr s'A ftZE s/ yb' e/ nksw gqhfynk eo fojk gqshs j[zdk 

j?l nkgDh ekftF;kXBk d/ T[; gVkn s/ nZgV fojk fiZE/ fi; tZr gSkD B/ T[;˘  pkeh 

;kfjs irs s'A fBy/fVnk ;h, T[; tZrFfuzsB s'A fByV e/ T[j nkgD/ ftnefsst dh gSkD 

eo ;e/ s/ fJT[A wkBtsk d/ fJZe Bt/A doÙB ˘ gqsZywkB eo ;e/.@  

 fJj eEB j? L   

(A) vkH jfoGiB f;zx  (B)  vkH nso f;zx  
(C) vkH oftzdo f;zx oth  (D) vkH s/itzs f;zx frZb  

9H 9H 9H 9H  “;dk fJzi jh” ekftFfeskp fe; b/ye dh j? L   

(A) i;tzs dhd   (B)  w'jBihs   (C) i;tzs ˜¯o   (D)  nzpohÙ  

10H10H10H10H  T[sonkX[fBesk ˜'o fdzdh j? L    

(A) iwksh ;zxoÙ ”s/    (B)  ;kfjse T[dks ”s/    
(C) ;EkBe tzBF;[tzBsk ”s/    (D)  wjKFfposKs ”s/   

11H 11H 11H 11H  “ebuo n?Av ;';kfJNh” (Culture and Society) g[;se dk b/ye e"D j? L   

(A) co?vfoe i/w;B    (B)  N?oh JhrbNB    

(C) nBs'BhT[ rqkwÙh    (D)  o/wzv ftbhnw˜   

12H 12H 12H 12H  š:EkoEtkdh ;kfjs dk we;d :EkoE dk ;Zuk gqshfpzp j[zdk j?@ (The Literature of Realism, 

aiming at a truthful reflection of reality) fJj eEB fe; dk j? L    
(A) ek¯ek dk    (B)  nbfET{;o dk  (C) ikoi b{eku dk   (D)  fbT[skod dk   

13H13H13H13H  šfiZE/ g{oB f;zx fij/ eth BthB gqsh o[fus jB, T[ZE/ XBh okw ukfsqe gozgok ˘ jh tX/o/ gqgZe 

eod/ jB.  ukfsqe ;fji, ;ob ns/ gVQB:'r eth j?.@ fJj eEB j? L    

(A) vkH jfoGiB f;zx  (B)  vkH nso f;zx  



(C) vkH w'jB f;zx  (D)  vkH ;[fszdo f;zx B{o  
 

14H14H14H14H  “e'Jh th noE gq;zr s'A pkjo fBÙfus BjhA j' ;ed/ go e'Jh th gq;zr ;zfsqgsh dh nkfrnk BjhA 

fdzdk” (No meaning can be determined out of context, but no context permitts saturation) 

fe; dk eEB j? L   
(A) o'bK pkos    (B)  B"w ukw;eh  (C) d?fodk    (D)  b{Bkuko;eh  

15H 15H 15H 15H  “;ztkdeh” dk f;oie j? L  

(A) r[opuB   (B)  jfoGiB f;zx   

(C) wBw'jB    (D)  jfoGiB f;zx GkNhnk   

16H 16H 16H 16H  “j'wh GkGk s/ GkJh tho f;zx” BK dh eftsk fe; eth dh j? L  
(A) nzpohÙ   (B)  w'jBihs   (C) nfwqsk gqhsw    (D)  i;tzs dhd   

17H 17H 17H 17H  šfeT[A eo/ goBkw Bk ;z;ko ekbh dk; ˘  

iZr ftZu fi; B/ fyzvkfjnk ˜˜fpnK dh pk; ˘  

EbK ftZu fi; g/T[AfdnK j? Xow s/ nkekÙ ˘  

fJj ekft ;soK jB L  

(A) nzfwqsk gqhsw  (B)  pkpk pbtzs  
(C) gq'H w'jB f;zx  (D)  w'jB f;zx dhtkBk  

18H 18H 18H 18H  šp'b? uogN[ ;fs ;o{g[.  

gow szs wfj o/y B o{g[.@  

fJj ;soK doi jB L  
(A) okr s[ykoh  (B)  okr okwebh  (C) ;b'e cohd e/ (D)  okr wkM  

19H 19H 19H 19H  šnkX[fBe gzikph ekftFgozgok ftZu fBo'b of;esk gfjbh tko g{oB f;zxFekft ftZu gqrN 

j'Jh j?.  of;esk g{oB f;zx dk ;fji ufosq j?.  fiZE/ tho f;zx dk gq/oBkF;o's nkdoÙ b"fee 

ftuko j? s/ XBh okw ukfsqe dk ;wekbh b"fee ;z;ko, T[ZE/ g{oB f;zx dk ouBkFe/Ado T[;dh 

nkgDh p/o'e gqfeosh j?.@  fJj eEB j? L  

(A) pktk p[ZX f;zx    (B)  w'jB f;zx dhtkBk    

(C) ;[fozdo f;zx e'jbh    (D)  jfoGiB f;zx   

20H 20H 20H 20H  “d;w rqzE s[eFsseok” d/ ;zgkde jB L   

(A) ;[fozdo f;zx e'jbh   (B)  GkJh ekBQ f;zx BkGk   
(C) Grtzs f;zx joh ih    (D)  GkJh wBh f;zx   

21H21H21H21H  “ÙokfJB nk¯ pkpk ¯ohd” dk eosk j? L   

(A) vkH w'jB f;zx     (B)  w[BÙh i?;h okw w[Ùske    



(C) wfjw{d Ù/okBh   (D)  wkJheb fJoftzr  

 

22H22H22H22H  “J/ efoNheb ;NZvh nk¯ d nkfd rqzE” nzro/˜h ftZu (A Critical Study of the Adi Granth) 

fe; dh g[;se j? L   

(A) vkH ;[fozdo f;zx e'jbh   (B)  vkH w'jB f;zx dhtkBk  
(C) vkH ;zs f;zx ;/y'A  (D)  vkH rzvk f;zx  

23H23H23H23H   fejVk i[ZN ;jh BjhA j? L  

(A) b'e ekft dh f;oiB gqfefonk F vkH Bkjo f;zx  

(B)  fto;k ns/ toswkB F vkH oftzdo f;zx oth    

(C) ;KMh F wfjzdo f;zx ozXktk  
(D)  c[bekoh F joihs f;zx frZb   

24H 24H 24H 24H  fejVk i[ZN ;jh j? L   

(A) ekft ehosh F w'jB f;zx    

(B)  Skj t/bk F nfwqsk gqhsw    

(C) ;j;feqsh ;b'e F wjbk 1, wjbk 5   
(D)  ihs f;zx ;hsb F gzikph feZ;k gozgok s/ gqtkj   

25H25H25H25H  šbZyK eZse nkJ/, bzx rJ/,  

bZyK e{ziK w'JhnK   

bZyK Xow s/ bZyK e"wK  

shthAUA g?dk j'JhnK.@   

(A) nzfwqsk gqhsw    (B)  gqhsw f;zx ;¯ho   

(C) pktk pbtzs    (D)  w'jB f;zx  

26H26H26H26H  ;jh i[ZN u[D' L   

(A) ewfonK s'A pkjo p?mk xo F fbgh d wjKd/t   

(B)  T[XVh j'Jh w?A F jowhs ftfdnkoEh   

(C) fiB gq/w ehU F r[ogqhs   

(D)  B˜w dh nksw eEk F wBihs fNtkDk     

27H 27H 27H 27H  ;wekbh gzikph ethnK dk ;jh i[ZN u[D' L   

(A) GkJh tho f;zx (B) r[ogqhs (C) i;tzs ˜¯o (D) i;tzs dhd   

(B)  gq'H g{oB f;zx (B) sBtho (C) d/tBhs (D) i;tzs dhd   

(C) ;[oihs gkso (B) wBihs fNtkDk (C) gkb e"o (D) i;tzs dhd    
(D)  ;H;H whÙk (B) sBtho (C)  i;tzs ˜¯o (D) gowihs ;'jb   



28H28H28H28H  “fiZE/ EekB nkgDk w[;k¯o pdbdh” fe; dh feskp j? L   

(A) nzpohÙ   (B)  Bts/i Gkosh (C) ;[ygkb   (D)  G[fgzdogqhs    

29H 29H 29H 29H  štkfo; Ùkj dh j˜koK s[eK dh jho ftu w;K gzdoK thj s[eK ˜wkB/ ftZu :[ZX no fJ; Bkb j' 

ojh spdhbh pko/ bZGdhnK jB s/ T[j th fJZe gqshˆkwh g[oÙ d/ n¯;'; dhnK rZbK@  fJj 

eEB fe;/ ;kfjs ;whfynk tzBrh dk j? L   

(A) wB'ftÙb/ÙDh ftXh  (B)  wekBeh wkoe;tkdh  
(C) BtFwkoe;tkdh  (D)  T[sonkX[fBesktkdh  

30H 30H 30H 30H  “;sh e[wko L nkX[fBesk dh g'BhN/b” BK dk b/y fe; dk fbfynk j'fJnk j? L   

(A) jfoGiB f;zx  (B)  i[frzdo f;zx okjh  
(C) r[opuB  (D)  vkH e/;o f;zx e/;o  

31H 31H 31H 31H  “;wekbh GkÙkFnfXn?B ftu S'Nh s'A S'Nh GkÙkrs tzBrh j? L   

(A) ;wki GkÙk  (B)  ftnesh GkÙk  (C) ;kfjse GkÙk  (D)  y/soh GkÙk  

32H 32H 32H 32H  GkÙk d/ nfGftnesh gZy dh fBZeh s'A fBZeh ;koEe ftnkeoDe fJekJh j? L    
(A) o{grqkw   (B)  Ùpd   (C) tke   (D)  X[Bh  

33H33H33H33H  “fuzB” ˘ ekr˜ dk nZrbk (Recto) s/ fgZSbk (Verso) toek fe; B/ fejk L   
(A) ;"f;T{o   (B)  i'BkEB e{bo  (C) o'bK pkos   (D)  B"w u"w;eh  

34H34H34H34H  “e” dh ;fEsh j? L   

(A) ezmh, nx'Ù wjKgqkD, vetK  (B)  ezmh, nkx'Ù nbggqkD, vetK  

(C) ezmh, nvZetK, nx'Ù nbggqkD  (D)  vZetK, ;x'Ù nbggqkD, ezmh  

35H 35H 35H 35H  nkX[fBe Gkosh nkohnk GkÙk d/ shik gVkn ;wK j? L   

(A) 1000JhH s'A 1900 JhH  (B)  1000 JhH s'A 1920 JhH   
(C) 1000 JhH s'A 1990 JhH   (D)  1000 JhH s'A 1996 JhH  

36H36H36H36H  “Return of Aryan” dk b/ye j? L   

(A) Bhagwan S. Gidwani   (B)  Taylor   

(C) L.D. Kalla  (D)  Colin P. Sasica  

37H37H37H37H  dqkftVh b'eK dk ;wK L   

(A) B/rqhN' ns/ nk;fNqe s'A gfjbK   (B)  B/rqhN' ns/ nk;fNqe s'A pknd   
(C) B/rqhN' ns/ nk;fNqe d/ ftueko   (D)  B/rqhN' ns/ nk;fNqe d/ ;wekbh   

38H38H38H38H  r[ow[yh nZyo eqw nB[;ko bVhtko fby' L   

(i) skbth L u, i  (ii)  w{oXBh L N, v  

(iii) ezmh L e, r   (iv)  dzsh L s, E  

(A) (i) (ii) (iv)  (iii)  (B)  (iv)  (i) (iii) (ii)  



(C) (iii)  (i) (ii) (iv)   (D)   (i) (iii) (iv) (ii)   

 

39H39H39H39H  j?bhv/ s/ jv;B nB[;ko eEB ;jh BjhA j? L   

(A) jo gkm dh nkgDh fJe o{gF;zouBk j[zdh j?   

(B)  jo gkm dk nkgDk o{g s/ GktFrmB j[zdk j?   

(C) jo gkm dk nkgDk fJe gq:'iB j[zdk j?   
(D)  jo gkm dh pDso nkgj[doh j[zdh j?.  

40H40H40H40H  ;{uh F 1 ;{uh F 2   
A  Language (i)  R.H. Robins  

B General Linguistics  (ii)  M.A.K. Halliday  

C Language as Social Semiotics  (iii)  Bloomfield  

D  Socio-Linguistics  (iv)  R.A. Hudson   

 A B C D 

(A) (iv) (ii) (i) (iii) 

(B)  (ii)  (iii) (iv) (i)  

(C) (i) (iv) (iii) (ii) 

(D)  (iii) (i) (ii) (iv) 

41H41H41H41H  gqekoih GkÙk ftfrnkB ;zpzXs j? L   

(A) ;'f;T{o  (B)  j?bhv/ Bkb  
(C) o'bK pkos Bkb  (D)  ikB bkfJB˜ Bkb  

42H42H42H42H  GkÙk ftu d[jokT{Fw{be g?NoB dk ;zpzX fe; Bkb j? L   
(A) f;BN?rw?fNe   (B)  f;Beo"fBe  (C) g?okfvrw?fNe   (D)  vkfJeo"fBe  

43H43H43H43H  “pks gktK ps'bh gktK pks ˘ bZr/ e[zv/ ;ZdK e[Vh ftnkj[D ub/ ;ko/ fgzv d/ w[zv/” fJ; p[Mkos 

dk T[Zso j? L  

(A) skVw skVk  (B)  fyZd' y[zvh   
(C) r[Zbh vzvk   (D)  b[eD whNh  

44H44H44H44H  ((((A))))  (eEB) L fujB ftfrnkBe ftXh dk ;zpzX e/tb ;kfjs nfXn?B Bkb BjhA ;r'A pqfjwzv 

d/ ;ko/ toskfonK dk nfXn?B eoB Bkb j?, i' noEFofjs jB ns/ gqfeose jB.  

 ((((R))))  (ekoB) L fJ; ftfrnkB dh gqfeosh f;;Nwh j? ns/ ;zpzXK d/ ;zuko gqekoi ˘ nkXko 

pDkT[Adh j?.  

(A) (A) ;jh j?, (R) nKfÙe rbs j?  (B)  (A) rbs j?, (R) nKfÙe ;jh j?  

(C) (A) nKfÙe ;jh j?, (R) g{oB ;jh j?   (D)  (A) ;jh j?, (R) rbs j?   

45H45H45H45H  Ùkj j[;?B dk ;zpzX fe; ;{¯h ;zgqdkfJ Bkb j? L   
(A) wbkwsh    (B)  ;[joktodh   (C) BeÙpzdh    (D)  fuÙsh   



46H46H46H46H  “nrqG{wB” dk ;zpzX j? L   

(A) ;zouBktkd Bkb  (B)  fÙekr' ;e{b Bkb  

(C) BtFnkb'uBk Bkb  (D)  gokr ;e{b Bkb  

47H47H47H47H  fposKsFÙk;so dk ;z;Ekge j? L   

(A) b?th ;sqk;  (B)  i?B/  

(C) tbkdhwho gokg  (D)  o'bK pkos  

48H48H48H48H  ;{¯hws ftu “˜[jd” s'A Gkt j? L   

(A) fsnkr Gfonk ihtB pshs eoBk s/ oZp dh pzdrh eoBk   

(B)  ˜[jd fJpkds ftu bhB j'Dk   

(C) jo ;w/A oZp dh Grsh ftu bhB ofjDk   

(D)  izrbK ftu ik e/ Grsh eoBk   

49H49H49H49H  ;{¯hws ftu “np{dhns” s'A Gkt j? L   

(A) ndp ndkp eoBk   (B)  nkfpd ns/ nkfpdk  
(C) fJbw gqkgs eoBk   (D)  oZp dh fJpkds eoBk  

50H 50H 50H 50H  T[Zso ;zouBktkdh nkb'ueK dk ;jh i[ZN j? L   

(A) d?fodk, bkeK, i{bhnk feq;shtk, N?oh JhrbNB   

(B)  o'wB i?ep;B, co?vfoe i/w;B, s'd'o't, g's/tBhnk   

(C) d?fodk, i{bhnk feq;shtk, o'bK pkos, frb˜ fdbT{˜ (Gilles Deleuze)   

(D)  cfbe; rkNoh, o'bK pkos, i{bhnk feq;shtk, NhHn?;H J/bhnN  
 

x-x-x 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

(RUSSIAN) 

 1.  Отметьте подходящий по смыслу глагол в предложнии: 

“Позавчера по пути в университет он ..... в магазин. 

              (A)   Пощёл  (B) Переходил (C) Заходил (D) Сощёл 

 

2.  Отметьте подходящий по смыслу глагол в предложнии 

         “Он не умеет ....... этим прибором” 

(A) Употреблять    (B) Использовать 

              (C) Пользоваться   (D) Пременять    

 

3.  В каком из следующих предложений неправильно  употреблён предлог: 

              (A) Они работают в саду  (B) Они работают на заводе 

              (C) Они работают в деревне (D) Они работают в выставке. 

 

4.  Базаров является представителем: 

             (A) демократизма  (B) западничества 

             (C) нигилизма    (D) славофильства 

 

5. Автор поэмы “Владимир Ильич Ленин” был: 

(A) В. Маяковский   (B) Е. Евтущенко 

(C) А. Блок   (D) М. Горький 

 

6.  Жуковский был основоположником русского: 

             (A) сентиментализма  (B) классицизма 

             (C) натурализма   (D) романтизма  

 

7.   Автором повести “Шинель” был: 

           (A) М.Горький   (B) Н. Гоголь  

(C) А. Чехов   (D) М. Гончаров 

 

8.  Сентиментализм в русской литературе 18 века отразился в произведении: 

           (A) Горе от Ума   (B) Недоросль 

(C) Бедная Лиза    (D) Ода Вольности                                                                                                                       

 

9.  Чего не входит в исконно- русскую лексику ? 

          (A) собственно русские слова  (B) общеславянские слова 

          (C) индоевропейские слова (D) заимствованные слова    



                                                                  

10.  Какое литературное течение не существовало в начале ХХ ом веке? 

          (A) символизм   (B) акмеизм 

         (C) сентиментализм  (D) футуризм 

 

11.  “Иду в кино.”Какое  предложение? 

          (A) определённо-личное предложение  

(B) неопределённо-личное предложение 

          (C) обобщённо-личное предложение 

(D) безличное предложение 

12.  Слова, которые совпадают по звучанию, но имеют разные значения и  

     пишутся по-разному называются........... : 

(A) антонимами (B) синонимами (C) омофонами (D) нет из них. 

 

13.  Безлично- предикативные слова выступают в роли : 

          (A) дополнения (B) определения (C) сказуемых (D) подлежащих                                                                                                  

 

14. За какое произведение М.А.Шолохов удостоен международной  

        новеллевской  премии ? 

         (A) Судьба человека    (B) Поднятую целину 

(C) Донские рассказы   (D) Тихий Дон                                                                             

 

15.  Чего не относится к винительному падежу? 

          (A)  винительный падеж обозначает расстояние                                                     

          (B) винительный падеж обозначает время 

(C) винительный падеж обозначает лицо, который производит действие 

(D) винительный падеж обозначает прямой объект    

                                                                                                                                             



16.  Отметьте, к какому разряду местоимений относится слово «себя» 

           (A) к притяжательному   (B) к указательному 

(C) к возвратному   (D) к отрицательному 

 

17.  Конфликт между двумя поколениями изображается в романе: 

          (A) Обломов    (B) Отцы и дети 

(C) Преступление и наказание  (D) Анна Каренина 

18.   Отметьте, к какому типу односоставных предложений относится  

         предложение «Мне не повезло» 

           (A) к безличному    (B) к обобщенно-личному 

           (C) к определённо-личному  (D) к неопределённо-личному 

                                                      

19.  О чём пишет Пушкин в своём стихотворении ‘В Сибири’? 

         (A) о счастье  (B) о море  (C) о мире  (D) о свободе 

20.   Причастие имеет характеристику: 

         (A) наречия    (B) имён прилагательных 

         (C) имён существительных  (D) местоимения             

21.  Что такое слог? 

         (A) Сочетание гласного с согласным (B) Сочетание гласного с гласным 

   (C) Сочетание гласного с предлогом (D) Сочетание гласного с морфемой 

22.  Стихотворение “Смерть поэта” было написано как отлик на 

          трагеическую, преждевременную гибель: 

(A) С. Есенина    (B) А. Блока  

(C) А.С. Пушкина   (D) А. Фета       

23.  Отметьте гласный передного ряда верхного подъёма 

            (A) «ы»  (B) «у»  (C) «а»  (D) «и» 

 

24.  Отметьте способ образования звука «б» 

            (A) щелевой (B) аффриката (C) дрожащий (D) смычный 

 

25.  Отметьте, какое из следующих сеществительных является собирательных: 

            (A) мать  (B) Волга  (C) молодёжь (D) хлеб 



 

26. .  Отметьте, какое из следующих слов относится к старославянизму: 

            (A) короткий (B) город  (C) краткий (D) берег 

 

27.   Кто был основателем Московского университета? 

           (A) Александр Николаевич Радищев (B) Михаил Васильевич Ломоносов 

           (C) Гаврил Романович Державин (D) Денис Иванович Фонвизин 

 

28.  Отметьте правильный глагол в предложни “Туристов ....... по разным  

        городам.” 

           (A) Возили (B) Носили (C) Ездили (D) Ходили  

 

29.  Просторечие - : 

         (A) это кодированная речь   

(B) это литературный язык 

         (C) это особенности языка людей  

(D) это территориально ограниченные говоры 

30.  Предложение, имеющее в своём составе две или несколько  

         Предикативных единиц, образующих смысловое структурное и  

          интонационное единство,  называется.......  : 

         (A) сложным    (B) двусоставным  

(C) восклицательным   (D) простым                                                           

31.  Ответьте в какой группе языков принадлежит русский язык : 

         (A) заподнославянской группе  (B) индо-иранской группе 

         (C) восточнославянской группе  (D) южнославянской группе  

32.  Одным из крупных представителей Пролеткульта был: 

          (A) В. Маяковский   (B) А. Луначарский 

(C) К. Федин    (D) А. Багданов 

 

33.  К части речи не относятся : 

(A) Предлоги (B) Частицы (C) Подлежащее (D) Союзы.  



 

34.  Кому посвящено стихотворение “Няне” Пушкина ? 

         (A) А.П.Керн    (B) Арина Родионовне 

         (C) Н.Н.Гончарове     (D) Н. О. Ганнибалу 

35.  Окончание – это…… : 

        (A) приставка    (B) неизменяемая часть слова 

        (C) изменяемая часть слова  (D) корень 

36.  Донь – это название : 

        (A) горы  (B) моря  (C) озера  (D) реки 

  37.  “Я хотел бы написать этот рассказ!” Какое это наклонение? 

         (A) сослагательное наклонение   (B) повелительное наклонение 

(C) изъятельное наклонение  (D) нет из них 

  38.  Дополнение и обстоятельство  : 

         (A) это главные члены предложения 

(B) это часть речи 

(C) это второстепенные члены предложения 

(D) это предлог     

39.  Сложное сказуемое  состоит из : 

         (A) одного глагола    

(B) двух глаголов 

        (C) трёх глаголов     

(D) вспомогательного глагола и инфинитива   

40.  Отметьте, какой из данных глаголов является переходным: 

         (A) ехать  (B) класть  (C) лежать (D) стоять 

 

41.  Отметьте, какое из следующих сеществительных не имеет формы единственного 

числа: 

(A) тетради (B) заводы (C) сутки  (D) города 



 

42.  Какая часть речи может обозначать признак действия ? 

        (A) имя числительное   (B) имя прилагательное 

        (C) имя существительное  (D) наречие 

43.  Совершенный вид глагола не может обозначать: 

        (A) законченные действия   

(B) результативные действия 

        (C) недлительные  однократные действия 

(D) повторяемость действия 

44.  Печорин –герой романа 

          (A) Мать     (B) Мёртвые души       

 (C) Герой нашего времени  (D) Приступление и наказание 

45.  Чего не относится к интонации? 

         (A) понижение основного тона голоса (B) согласные звуки 

(C) паузы      (D) повышение основного тона голоса 

46.  Отметьте способ синтаксической связи в словосочетании «любоваться  

      природой» 

         (A) управление    (B) примыкание 

         (C) полное согласование  (D) неполное согласование 

47.  Кто написл пьесу “Медведь”: 

        (A) Лев Толстой    (B) Н. Гогол  

 (C) А.С. Пушкина   (D) А.П. Чехов     

48.  Жаргон- 

        (A) Это кодированная речь  (B) Это оссобенный язык 

(C) Это совокупность всех слов  (D) Это территориальный язык     

 49.  Кто написал роман “Архипелаг Гулаг”  ? 

        (A) Иван Бунин     (B) М.А.Шолохов  

        (C) Сольженыцин   (D) Борис Пестарнак  

50.  Когда произошла ‘Bеликая Отечественная Война ? 

        (A) 1812  (B) 1813  (C) 1814  (D) 1815    



(SANSKRIT) 

1. वेद᭭य नेᮢं िकम्  
(A)  िशᭃा  (B)  ᳞ाकरणम् (C)  ᭔योितषम् (D)  क᭨पः 

2. शतपथᮩाᳬणस᭥ब᳍वेदः अि᭭त – 

(A)  यजुवᱷदः  (B)  अथवᭅवेदः (C)  ऋ᭏वेदः  (D)  सामवेदः 

3. यम-यमी संवादः वतᭅते –  

(A)  सामवेद े (B)  यजुवᱷद े  (C)  अथᭅववेद े (D)  ऋ᭏वेद े

4. ᭔योितरधकृ᭜य वेदकालिनणᭅयः कृतः  - 
(A)  मैकडानलेन    (B)  सायणेन   
(C)  बालगंगाधरितलकेन    (D)  मै᭍समूलरेण 

5. ᮰ौतसूᮢािण पिरग᭛य᭠ते –  

(A)  उपिनष᭜स ु (B)  ᮧाितशा᭎येषु (C)  क᭨पेषु  (D)  आर᭛यकेष ु

6. शतᮓतुः िवशेषणमि᭭त –  

(A)  इ᭠ᮤ᭭य  (B)  िव᭬णोः  (C)  वायोः  (D)  सिवतुः 

7. ऋ᭏वेद ेम᭛डलानां सं᭎या वतᭅते –  

(A)  33  (B)  10  (C)  5  (D)  40 

8. िनᱧᲦारमते दवेताना ं᭭थानं नाि᭭त –  

(A)  पृिथवी  (B) अ᭠तिरᭃम् (C)  ᳒ुलोकम् (D)  ᭭वगᭅः 

9. यजुवᱷद ेअ᭟यायाः सि᭠त  - 
(A)  च᭜वािरशत ् (B)  पᲱाशत्  (C)  िᮢशत्  (D)  िवशितः 

10. नासदीयसूᲦं क᭝यते –  

(A)  भोगसूᲦम् (B)  दानसूᲦम् (C)  संवादसूᲦम् (D)  दाशᭅिनकसूᲦम् 

11. शुनःशेपा᭎यानं वतᭅते –  

(A)  गोपथᮩाᳬणे (B)  ता᭛Ჽᮩाᳬणे (C)  शतपथᮩाᳬणे (D)  ऐतरेयᮩाᳬणे 



12. निचकेतािपᮢा य᭄मायोिजतम् –  

(A)  राजसूयय᭄म् (B)  सौᮢामिणय᭄म् (C)  िव᳡िज᭄᳒म् (D)  िᮢिदवसीयय᭄म् 

13. या᭭कानुसारमा᭎यातलᭃणं वतᭅते – 

(A)  धातुᮧधानम् (B)  भावᮧधानम् (C)  सᱬवᮧधानम् (D)  श᭣दᮧधानम् 

14. “तᮢ ᳣ोकचतु᳥यम्” इ᭜युिᲦः संग᭒छते – 

(A)  उᱫररामचिरत े    (B)  मृ᭒छकिटके  
(C)  अिभ᭄ानशाकु᭠तले   (D)  वेणीसंहारे 

15. “क᭭या᭜य᭠तं सुखमुपनतं दःुखमेका᭠ततो वा नीचैगᭅ᭒छ᭜युपिर च दशा चᮓनेिमᮓमेण” इ᭜युिᲦवᭅतᭅते –  

(A)  रघुवंशे  (B)  ऋतुसंहारे (C)  नैषधीयचिरत े (D)  मेघदतूे 

16. बाणभᲵिवरिचतमि᭭त  - 
(A)  हषᭅचिरतम्    (B)  बु᳍चिरतम्  
(C)  नैषधीयचिरतम्    (D)  दशकुमारचिरतम् 

17. अ᭒छोदसरोवणᭅनं ᮧा᭡यते –  

(A)  हषᭅचिरत े (B)  अिभ᭄ानशाकु᭠तले (C)  काद᭥बयाᭅम् (D)  मृ᭒छकिटके 

18. “मृ᭒छकिटकम्” नाटके चाᱧदᱫ᭭य पुᮢः अि᭭त –  

(A)  वसुिमᮢः (B)  संवाहकः (C)  सवᭅदमनः (D)  रोहसनेः 

19. “िवᮓमोवᭅशीयम्” इ᭜यᮢ नायकः वतᭅते –  

(A)  िवᮓमािद᭜यः (B)  अिᲨिमᮢः (C)  पुᱧरवा  (D)  च᭠ᮤगु᳙ः 

20. “मृ᭒छकिटकम्” नाटके िवदषूकनाम वतᭅत े– 

(A)  मैᮢेयः  (B)  माध᳞ः  (C)  गौतमः  (D)  वस᭠तकः 

21.  “मुᮤाराᭃसम्” नाटके पवᭅतक᭭य पुᮢनाम वतᭅते – 

(A)  ᳡ेतकेतुः  (B)  भागुरायणः (C)  च᭠दनदासः (D)  मलयकेतुः 

22. “पुर᭠ᮥीणां ᮧ᭄ा पुᱧषगुणिव᭄ानिवमुखी” इ᭜युिᲦः मुᮤाराᭃसे क᭭याि᭭त –  

(A)  च᭠ᮤगु᳙᭭य (B)  चाण᭍य᭭य (C)  राᭃस᭭य (D)  भागुरायण᭭य 



23. “अिविदतगतयामा रािᮢरेवं ᳞रंसीत”् – उᱫररामचिरत ेक᭭येयमुिᲦवᭅतᭅते –  

(A)  सीतायाः (B)  तमसायाः (C)  राम᭭य  (D)  ल᭯मण᭭य 

24. “दवैायᱫं कुले ज᭠म ममायᱫं तु पौᱧषम्” इ᭜युिᲦः वतᭅते – 

(A)  जयᮤथ᭭य (B)  भीमसेन᭭य (C)  दयुᲃधन᭭य (D)  कणᭅ᭭य 

25. आचायᭅवामन᭭य का᳞पिरभाषा वतᭅते –  

(A)  रमणीयाथᭅᮧितपादकः श᭣दः का᳞म्। (B)  रीितरा᭜मा का᳞᭭य। 

(C)  श᭣दाथᲆ सिहतौ का᳞म्।   (D)  का᳞᭭या᭜मा ᭟विनः। 

26.  “येना᭑गिवकारः” इ᭜य᭭य योगे का िवभिᲦः यु᭔यते –  

(A)  पंचमी  (B)  चतुथᱮ  (C)  तृतीया  (D)  ि᳇तीया 

27.  “कृदितङ्” इित सूᮢेण का स᭄ंा भवित  - 

(A)  ᮧाितपिदकम् (B)  कृत ्  (C)  ितङ्  (D)  धातुः 

28. “पच᭠ती” इ᭜यᮢ ᳫी-ᮧ᭜ययः वतᭅते –  

(A)  ङीष्  (B)  ङीन्  (C)  ङीप्  (D)  ितप् 

29.  “कृ᭜ᳩम्” इ᭜यᮢ उपधासं᭄को वणᭅः अि᭭त –  

(A)  सकारः  (B)  नकारः  (C)  अकारः  (D)  मकारः 

30.  उपधा-सं᭄ा-िवधायकं सूᮢमि᭭त –  

(A)  उपधायां च    (B)  अत उपधायाः  

(C)  अलोऽ᭠᭜यात् पूवᭅ उपधा    (D)  उपधाया᳟ 

31.  ᮧ᭜याहारिवधायकसूᮢाणां स᭎ंया अि᭭त  - 
(A)  दश  (B)  ᳇ादश  (C)  चतुदᭅश  (D)  पᲱदश 

32.  “महाराजः” इ᭜यᮢ समासः अि᭭त –  

(A)  ि᳇गुः  (B)  कमᭅधारयः (C)  ᳇᭠᳇ः  (D)  बᱟᮯीिहः 

 



33.  स᭥ᮧसारणसं᭄ािवधायकं सूᮢ मि᭭त –  

(A)  ᭮वः स᭥ᮧसारणम्   (B)  न स᭥ᮧसारणे स᭥ᮧसारणम्  
(C)  ᮢेः स᭥ᮧसारणं च    (D)  इ᭏यणः स᭥ᮧसारणम् 

34. कृद᭠त᭭य सं᭄ा भवित –  

(A)  ᮧ᭜ययसं᭄ा (B)  धातुसं᭄ा (C)  संयोगसं᭄ा (D)  ᮧाितपिदकसं᭄ा 

35. “कृतकमᭅ” इ᭜यᮢ समासः अि᭭त –  

(A)  ᳇᭠᳇ः  (B)  त᭜पुᱧषः  (C)  अ᳞यीभावः (D)  बᱟᮯीिहः 

36. “अ᭭मद”् इ᭜य᭭य ष᳧ीिवभिᲦबᱟवचने ᱨपं भवित – 

(A)  अ᭭मान्, नः (B)  अ᭭म᭤यम्, नः (C)  अ᭭माकम्, नः (D)  मम, मे 

37.  “स᳙षᭅयः” इ᭜यᮢ समासः वतᭅते –  

(A)  त᭜पुᱧषः  (B)  ि᳇गुः  (C)  ᳇᭠᳇ः  (D)  बᱟᮯीिहः 

38.  ᭭वप् + Ღः = सु᳙ः, अᮢ “᭭वप्” इ᭜यᮢ िविधवᭅतᭅते – 

(A)  संिहता   (B)  संयोगः  (C)  स᭥ᮧसारणम् (D)  गुणः 

39. अतीतािद᳞वहारहतेुः कः –  

(A)  िदक्  (B)  कालः  (C)  आकाशः  (D)  वायुः 

40. ᮰ोᮢेण श᭣दसाᭃा᭜कारे भवित –  

(A)  संयोग सि᳖कषᭅः    (B)  संयुᲦसमवायः सि᳖कषᭅः  

(C)  संयुᲦ-समवेत-समवायः-सि᳖कषᭅः  (D)  समवायः सि᳖कषᭅः 

41.  अत᭜वतोऽ᭠यथाᮧथा भवित – 

(A)  मोᭃः  (B)  िववतᭅः  (C)  अ᭟यारोपः (D)  ᮧयोजनम् 

42.  स᭠᭟याव᭠दनािदकमᭅ कीदशृम् –  

(A)  ऐि᭒छककमᭅ (B)  िन᭜यकमᭅ (C)  नैिमिᱫककमᭅ (D)  ᮧायि᳟ᱫकमᭅ 

43.  स᭜कायᭅवाद᭭य समथᭅन ंभवित – 

(A)  सौ᭯᭥यात ् (B)  भोᲦृभावात् (C)  कैव᭨याथᭅᮧवृᱫेः (D)  कारणभावात ्



44.  परामशᭅज᭠य᭄ानमि᭭त –  

(A)  ᮧ᭜यᭃम्  (B)  श᭣दः  (C)  उपिमितः (D)  अनुिमितः 

45. “अ᭠वय᳞ाि᳙ः” वतᭅत े– 

(A)  धूमवᱬवात्    (B)  यᮢ धूम᭭तᮢ वि᭮नः  

(C)  पवᭅतो वि᭮नमान्    (D)  यᮢ वि᭮ननाᭅि᭭त तᮢ धूमो नाि᭭त 

46.  वा᭍याथᭅ᭄ाने हतेुः नाि᭭त –  

(A)  यो᭏यता  (B)  सि᳖िधः  (C)  िलगपरामशᭅः (D)  आकांᭃा 

47.  ᮧकृितिवकृतयः सि᭠त –  

(A)  इि᭠ᮤयािण (B)  पुᱧषः  (C)  पᲱमहाभूतािन (D)  महदा᳒ाः 

48.  अति᭭म᭭त᭞बुि᳍ः  –  

(A)  परामशᭅः  (B)  अ᭟यासः  (C)  ᭄ानाभावः (D)  ᮩᳬ᭄ानम् 

49.  त᭠तवः पट᭭य िक कारणम् – 

(A)  करणकारणम्    (B)  असमवाियकारणम्  
(C)  िनिमᱫकारणम्    (D)  समवाियकारणम् 

50.  अभावᮧ᭜यᭃे कः सि᳖कषᭅः –  

(A)  संयोगः     (B)  समवायः  
(C)  संयुᲦ-समवेत-समवायः   (D)  िवशेषण-िवशे᭬य भावः 

x-x-x 
 
 

 

 

 

 













Ph.D.Entrance Test 2019

Subject: Urdu

Paper.1


 1 

 D  C  B  A

 2 

 D  C  B  A

 3 

 D  C  B  A

 4 

 D  C  B  A

 5 

 D  C  B  A

 6 

 D  C  B  A

 7 

 D  C  B  A

 8 

 D  C  B  A

 9 

 D  C  B  A



2



 10 

 D  C  B  A



 11 

 D  C  B  A

 12 

 D  C  B  A

  13 

 D  C  B  A

 14 

 D  C  B 

 A

  15 

 D  C  B  A

 16 

 D  C  B  A

 17 

 D  C  B  A


 18 

 D  C  B  A

 19 

 D  C  B  A

 20 

 D  C  B  A

 21 

 D  C  B  A



3

  22 

 D  C  B  A

 23 

 D  C  B   A

 24 

 D 

 C  B  A

 25 

 D  C   B  A

 26 

 D 
 C  B  A

 27 

 D   C  B  A

 28 

 D  C  B  A

 29 

 D  C  B   A

 30 

 D  C  B  A

  31 

 D  C  B  A

 32 

 D  C  B  A

 33 

 D  C  B  A



4                            

 34 

 D  C  B   A

 35 

 D  C  B  A

 36 

 D  C  B  A

 37 

 D  C  B  A

 38 

 D  C   B  A

 39 

 D  C  B  A



 40 

 D  C  B  A

 41 

1872D  1871C  1870B  1869A

  42 

 D  C  B  A

 43 

 D  C  B  A

 44 

 D  C  B  A

 45 

 D  C  B  A



5

 46 

 D  C  B  A

 47 

 D  C  B  A

 48 

 D  C  B  A

   49 

  D  C  B  A

 50 

 D  C  B  A




